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36921 | 401t LY JEIRF T BSE 3.8 |-

36922 ;g;’?’bz 2 JER T BEIE 3.8 |-

36923 ;gf’;‘ B JEIRF T BSE 3.8 |-

36924 ;g;’?’bz 2 JER T BRIE 3.8 |-

36925 | 101% Lg i JEIRF T BIE 3.8 |-

36926 | 401X Bk It BEEE 3.8 |-

36927 | 101% Tk JEIRFT FEE 3.8 |-

36928 | 301% 2 JEIRF T BRIE 3.8 |-

36929 | 301% Fk JEIRFTH BEE 3.7 |BVERHE
36930 | 20f% Lt JEIRF T BRIE 3.7 |BVERE
36931 ;g?’bz g JEIRFTH BEE 3.7 |BUERE
36932 | 401X i JEgF T PEEE 3.7 |BVERHE
36933 | 30f% g JEIRFTH BEE 3.7 |BERE
36934 | 301% M JERFTTi PEEE 3.7 |BVERHE
36935 | 401X g JEIRF T BEE 3.7 |BERE
30936 | LR | o et i 5.7 BRLUEES




pillEdis

&2 | £f M B EROBE | o Zoft
36937 ;g;’f% Bk Gt EE 3.8 |BREUERE
36938 | 20f% Bk Je Mt BT 3.8 |-

36939 | 301% i JERE T PEEE 3.8 |-

36940 | 20f% Lgis JERE T BEIE 3.8 —

36941 | 601X PEL s JERE T PEEE 3.8 |-

36942 | 501% Lgis JERE T BEIE 3.8 —

36943 | 501X PEL s JERE T PEEE 3.8 |-

36944 | 301% LY JEIRF T HERER 3.8 |-

36945 | 401% 2 JER T BEIE 3.8 |-

36946 ;g;ﬁ LY JEIRF T BSE 3.8 |-

36947 | 101% Bt JERE T BEEE 3.8 |-

36948 | 401t B JEIRF T BIE 3.8 |-

36949 ;gfé Bk It BEEE 3.8 —

36950 ;gzﬁ Tk JEIRFT FEE 3.8 |-

36951 101X Bk JERE T BEEE 3.8 |-

36952 | 301K Fk o] HERER 3.8 |—

36953 | 101% Bk It BEEE 3.2 |—

36954 | 401% Mk JEIRFTH FEE 3.2 |—

36955 ;gfé 2 JEgF T PEEE 3.2 |—

36956 | 601% Bk JEIRFTH A E 3.8 |-

36957 | 50fR Bk Je W BT 3.8 |-

36058 | S gt R i s 3.7 | KW 2
30959 | LUE | b et i 3.7 | KIRFFSEERES




pillEdis

&2 | £f M B EROBE | o Zoft
36960 (ﬁf ik Gt EE 3.7 |-
3061 | LE | b et i 3.7 | KIRFFSEERES
3062 | 0 gt Mt s 3.7 | KW 2
36963 | 80f% Lgis JERE T BEEE 3.7 | RBRIFFERFE A
36964 | 701X ik JERE T PEEE 3.7 | R FE R 7
36965 | 60f% Lgis JERE T BEEE 3.5 | RBRIFFERFE A
36966 ﬁf PEL s JERE T PEEE 3.8 |-
36967 | 80f% B JERE T BSE 3.6 | RBRIFFERFE A
36968 | 80f%: Lt JER T BEIE 3.6 | RERFFEER 7
36969 | 801t LY JERE T BSE 3.6 | RERIFFERFE A
36970 | 80f% Bt JERE T BEEE 3.7 | RBRFFEFR G A
36971 i?iﬁ Lg i IE G BIE 3.7 | RBRIFFEFRFE A
3072 | Q| m R e 5.7 | KBRS
36973 | 801K Fk JEIRFT HERER 3.6 | RFRFFFESR G 7
36974 | 101% Bk JERE T BEEE 3.8 |-
36975 | 501% Tk JEIRFTH FEE 3.8 |-
36976 | 601% 2 JEIRF T BRIE 3.7 |-
36977 | 504X g JEIRFTH HERER 3.8 |—
36978 | 60f% Bk Je W BT 3.8 |-
36979 | 501% Mk JEIRFTH FEE 3.7 |-
36980 20X Qi JelRF T BESE 3.8 —
36981 101X ik JEIRF T HEE 3.8 |-
36982 401X ik = BEE 3.8 —




pillEdis

&2 | £f M B EROBE | o Zoft
36983 | 201% ik Gt EE 3.7 |-

36984 201X ik = BEE 3.7 —

36985 | 401% i JERE T PEEE 3.7 |-

36986 4018 B Jeli T ESE 3.7 —

36987 | 301% i JERE T PEEE 3.8 |BRUERSE
36988 10f% Lgis JERE T BEIE 3.8 —

36989 | 301% PEL s JERE T PEEE 3.8 |-

36990 | 101% B JEIRF T BSE 3.8 |-

36991 ;g;’?’bz 2 JER T BEIE 3.7 |-

36992 | 101% LY JEIRF T BSE 3.8 |-

36993 | 201% 2 JER T BRIE 3.8 |-

36994 | 201% B JEIRF T BIE 3.8 MR
36995 | 301% 2 JERF T BEIE 3.8 |-

36996 | 201% Tk JEIRFT FEE 3.8 |-

36997 | 201% Bk JERE T BEEE 3.8 |-

36998 | 301% Lk JEIRFTH FEE 3.8 |-

36999 | 201% Bk It BEEE 3.8 |-

37000 | 101% e JEIRFTH FEE 3.8 |-

37001 | 10f% Bk Je W BT 3.8 |—

37002 | 401% Bk JEIRFTH FEE 3.8 |-

37003 301K Qi JelRF T BESE 3.8 —

37004 | 801% Tk EU HEE 3.5 | RRIFFEFRGT 7
37005 | 70f% Bk Je Mt BT 3.8 |—




pillEdis

£2 | &% M3 Rl Bk DR e Z0Ht
EEH
37006 801Y; Pk JElgF T AESTE IR 3.8
37007 301K o JRRy T T 3.8
37008 601X ok =i MESE R 3.8
37009 ;gfé B JRgyTH HRE 3.8
37010 701 Pk =i IE 3.8
37011 301% ek JRgy T HRE 3.8
37012 401%; Pk = E 3.8
37013 101X 2otk JE 5 X 3.8
37014 301%; # JE HEE 3.8
37015 301K otk JE 5 X 3.8




